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Question 1
Question Type: MultipleChoice

Your vendors don't always send the exact order quantities. You therefore allow tolerances for under deliveries and over deliveries.

Where can you define defaults for these tolerances?

Options: 
A) Purchasing value keys

B) Material type

C) User-specific settings in the goods movement transaction MIGO

D) Plant parameters

Answer: 
A

Question 2
Question Type: MultipleChoice



Your vendors don't always send the exact order quantities. You therefore allow tolerances for underdeliveries and overdeliveries.

Where can you define defaults for these tolerances?

Please choose the correct answer.

Response:

Options: 
A) Purchasing value keys

B) Material type

C) User-specific settings in the goods movement transaction MIGO

D) Plant parameters

Answer: 
A

Question 3
Question Type: MultipleChoice



Your vendors don't always send the exact order quantities. You therefore allow tolerances for under deliveries and over deliveries.

Where can you define defaults for these tolerances?

Options: 
A) Purchasing value keys

B) Material type

C) User-specific settings in the goods movement transaction MIGO

D) Plant parameters

Answer: 
A

Question 4
Question Type: MultipleChoice

Your vendors don't always send the exact order quantities. You therefore allow tolerances for underdeliveries and overdeliveries.



Where can you define defaults for these tolerances?

Please choose the correct answer.

Response:

Options: 
A) Purchasing value keys

B) Material type

C) User-specific settings in the goods movement transaction MIGO

D) Plant parameters

Answer: 
A
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